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the one that was gin was similer to this one , knowing the time difference we had to fing x and y.[image: ]
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The crate has mass m, and rests on a surface for which the coefficients of static and kinetic

friction are 41, and /4, respectively. If the motor M supplies a cable force of F =ar’ + b,
determine the power output developed by the motor when £ =7,

Given:
. N
me =150k a=83 W
$
1 =03 5=20N
| L
t =02 n=5s
_ My
g-9813 g
: |
Solution e ¥

Time to start motion

slaf 1) = psmee

=399 5

Speedatr;  3lai’ +3)

P =3lar? s

P=112kW
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Stating from sest when s = 0, pulley A is given a constant angular acceleration @, Determine
the speed of block B when it has risen to s = ;. The pulley has an inner hub D which is fixed to

C and rumns with .

Given
g
ag=62
“ 2
s
sp=6m
74 = 50 mm
rc = 150 mm
p =75 mm
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04 = 20464
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oc = 2oy vg = werp vg =134
rc s




image3.png
*Problem 12-96

A boy at O throws a ball in the air with a speed v at an angle 6. If he then throws another ball
at the same speed vp at an angle 6 < 6. determine the time between the throws so the balls

collide in mid air at B.

Solution

x = vgcos(8))r = vpcos(82)(r - 1)

+ vpsin(82)(¢ - 49)

)2 )
y= [ Z12 1 vpsin(6;)

2ps

Eliminating time between these 2 equations we have

v sin(6; - 65) \'
g

A= cos(67) + cos(6)




